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Third Semester B.E. Degree Examination, July/August 2022

Network Analysis
-l'ime: 3 hrs. Max. Marks: 80

Note: Answer any FIVE full questions, choosittg Ol'{E full question from esch module.
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Module-1
Irind the current'l' in 5() using Mesh analysis for F'ig. Q1(a).

Fig. Ql(a)

b. Find the voltage V, using Node Analysis lor Fig. Q1(b).
Vt

Fie. Q1(b)
-74

a.

OR
Determine the resistance between A and B using A to

1rL 4lJ>

F'ig. Q2(a)

b. Find the current I1 , 12 using Mcsh Analysis for F'ig 0?!![

Irie. Q2(b)

c. Calculate Ir , Iz , l: , Vo , V5 using Node analysis

(08 Marks)

(08 Marhs)

4vx-

Y conversion fbr Fig. Q2(a).
(04 Marks)
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Fig. Q2(c)
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a. State and prove Thevenin's
b. Find I* using Super position

Module-2
theorem.
theorem for Fig. Q3(b).

Q3(c)
\eJ>

(05 t\'larks)
(05 Marks)

(06 NIarks)

(05 Marks)
(05 NIarks)

tircorem lcrr

(06,\'larks)

F ig. Q3 (b)

c. Verify the Reciprocity

Fig Qa Q)

Find the value of R1

Fig. Qa(c).

theorem lbr the circuit

5r7'
in Fig

loJL

Fig Q3 (c)

a. State and prove Milliman's theorem.

b. Determine I through 8Q using Nofton's

OR

theorem lor Fig.
5v

Q4(b)
A

+r

9n-

and Maxi Power delivered to Rr- using Maxi Power

5a

Fig. Q  (c)

S-openedatt:0fbr
dv(O.) d2v(0*)

dt ' dt'

Module-3
the circuit Fig. Q5(a). Calculate V(0.)

v(+)

!"A sfid I lu y

5J>

2JL

Fig Q5(a)
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b. S ismovedliorn I to2att:0findI(0-). dl(0-) 
.

dr

15EC34

drI(o* )

- 

for the crcuit in Fig. Q5(b).dt'

Fig. Qs (b)

S * is moved liom I to 2 at t= 0

thc circuit Fig Q5(c).

(05 Marks)
Determine I(t) using Laplace Transformation for t > 0 in

(06 N{arks)

6a.

b

OR

Find Inverse Laplace Translbrm oP -- 
I

s(s + 1)

S - is changed from I to 2 at t = 0, find I(t) for t >

F'is Qs (c)

Fie. Q6 (b)

A series R, l, circuit with
t : 0. Dcrive an cxprcssion

2clmt{
lov

initial current [6 in inductor is connected
fbr I(t) through the inductor for t > 0.

0 in the circuit Fig. Q6(b).
40JL

(04 Marks)

(06 Marks)

to a D.C voltage V al
(06 NIarks)

(05 Marks)

circuit when
(05 N{arks)

Bandwidth is

(06 N'Iarks)

t-
I-<

2,

7a.
b.

L-

Module-4
Shorv the resonance liequency fir = ,q f; for series

Derive an expression lbr resonance lrequency {o in
inductor L resistance R1 is considered.
A serics resonance circuit C : I prF and its inductor
500rad/sec. Determine t", Q, I-.

resonance crrcult.

case of parallel resonance

L resistance is l6Q. If the

OR
a. Define Q - lactor, Bandwidth , selectivity of series resonance crrcuit. (06 N{arks)

b. Determine the lrequency wc, r.vhen the voltage across the capacitor is maximum incase of
series resonance circuit. (05 N{arks)
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The inductor value L :
liequency of the circuit

0.1H fbr the circuit Fig.
is 500rad/scc. Detcrntine

Q8(c) and its Q valuc is

the values of capacitartcc

1sEC34

5. -l'hc rcsonaltcc
C and I{.

(05 \larlis)

a. Determine Z -
parameters, find

Fig. Q8 (c)

parameters fbr
Y parameters.

Modulc-5
the circuit Fig. Q9(a). Using rnterrelationship bctwccrr

(0U )tarks)

Fig Q9 (a)

b. Determrne the h - parameters fbr the :T:i, Fig 9P) Tz

OR
a. Define Z - parumeters and obtain the condition fbr symn'letry.

b. Determine Z - parameters, ustng Interrelationship betw'een

parameters ltrr the circuit Fig. Ql0(b).
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